sciendo

# On an eigenvalue problem associated with the $(p, q)$ - Laplacian 

Luminiţa Barbu, Andreea Burlacu and Gheorghe Moroşanu

Dedicated to Professor Adrian Petruşel on the occasion of his 60th anniversary


#### Abstract

Let $\Omega \subset \mathbb{R}^{N}, N \geq 2$, be a bounded domain with smooth boundary $\partial \Omega$. Consider the following generalized Robin-Steklov eigenvalue problem associated with the operator $\mathcal{A} u=-\Delta_{p} u-\Delta_{q} u$ $\left\{\begin{array}{l}\mathcal{A} u+\rho_{1}(x)|u|^{p-2} u+\rho_{2}(x)|u|^{q-2} u=\lambda \alpha(x)|u|^{r-2} u, x \in \Omega, \\ \frac{\partial u}{\partial \nu_{A}}+\gamma_{1}(x)|u|^{p-2} u+\gamma_{2}(x)|u|^{q-2} u=\lambda \beta(x)|u|^{r-2} u, x \in \partial \Omega\end{array}\right.$ where $p, q, r \in(1, \infty), p<q ; \alpha, \rho_{i} \in L^{\infty}(\Omega)$ and $\beta, \gamma_{i} \in L^{\infty}(\partial \Omega)$ are nonnegative functions satisfying $\int_{\Omega} \alpha d x+\int_{\partial \Omega} \beta d \sigma>0$ and $\int_{\Omega} \rho_{i} d x+$ $\int_{\partial \Omega} \gamma_{i} d \sigma>0, i=1,2$.

We show that, if either $(r<p)$ or $(r>q$ with $r<q(N-1) /(N-q)$ in case $q<N$ ), then the eigenvalue set (spectrum) of the above problem is precisely $(0, \infty)$. If $r \in\{p, q\}$ then the corresponding spectrum is a smaller interval $(d, \infty), d>0$. On the other hand, if $(r \in(p, q)$ with $r<p(N-1) /(N-p)$ in case $p<N)$, then we are able to identify an interval of eigenvalues $\left[\lambda^{*}, \infty\right)$, where $\lambda^{*}$ is a positive number depending on $r$.

Obviously, the spectrum of the above problem coincides with the spectra of the Neumann-like, Robin-like, and Steklov-like eigenvalue problems corresponding to the cases when some of the functions $\alpha, \beta$, $\gamma_{i}$ vanish.


[^0]
## 1 Introduction

Let $\Omega \subset \mathbb{R}^{N}, N \geq 2$, be a bounded domain with smooth boundary $\partial \Omega$. Consider the eigenvalue problem associated with the operator $\mathcal{A} u=-\Delta_{p} u-$ $\Delta_{q} u$

$$
\left\{\begin{array}{l}
\mathcal{A} u+\rho_{1}(x)|u|^{p-2} u+\rho_{2}(x)|u|^{q-2} u=\lambda \alpha(x)|u|^{r-2} u, x \in \Omega  \tag{1}\\
\frac{\partial u}{\partial \nu_{\mathcal{A}}}+\gamma_{1}(x)|u|^{p-2} u+\gamma_{2}(x)|u|^{q-2} u=\lambda \beta(x)|u|^{r-2} u, x \in \partial \Omega
\end{array}\right.
$$

under the following hypotheses
$\left(h_{p q r}\right) p, q, r \in(1, \infty), p<q ;$
$\left(h_{\alpha \beta}\right) \quad \alpha \in L^{\infty}(\Omega)$ and $\beta \in L^{\infty}(\partial \Omega)$ are nonnegative functions satisfying

$$
\begin{equation*}
\int_{\Omega} \alpha d x+\int_{\partial \Omega} \beta d \sigma>0 \tag{2}
\end{equation*}
$$

$\left(h_{\rho_{i} \gamma_{i}}\right) \quad \rho_{i} \in L^{\infty}(\Omega), i=1,2$, and $\gamma_{i} \in L^{\infty}(\partial \Omega), i=1,2$, are nonnegative functions such that

$$
\begin{equation*}
\int_{\Omega} \rho_{i} d x+\int_{\partial \Omega} \gamma_{i} d \sigma>0, i=1,2 \tag{3}
\end{equation*}
$$

Recall that, for $\theta \in(1, \infty), \Delta_{\theta}$ denotes the $\theta$-Laplacian, $\Delta_{\theta} u=\operatorname{div}\left(|\nabla u|^{\theta-2} \nabla u\right)$. In the above boundary condition we have used the notation

$$
\frac{\partial u}{\partial \nu_{\mathcal{A}}}:=\left(|\nabla u|^{p-2}+|\nabla u|^{q-2}\right) \frac{\partial u}{\partial \nu}
$$

where $\nu$ is the outward unit normal to $\partial \Omega$.
The operator $\left(\Delta_{p}+\Delta_{q}\right)$, called $(p, q)$-Laplacian, occurs in many applications that include models of elementary particles ([9], [14]), elasticity theory ([21]), reaction-diffusion equations ([12]).

The solution $u$ of (1) is understood as an element of the Sobolev space $W:=W^{1, q}(\Omega)$ satisfying equation $(1)_{1}$ in the sense of distributions and $(1)_{2}$ in the sense of traces.

Definition 1.1. A scalar $\lambda \in \mathbb{R}$ is said to be an eigenvalue of the problem (1)
if there exists $u_{\lambda} \in W \backslash\{0\}$ such that for all $w \in W$

$$
\begin{align*}
& \int_{\Omega}\left(\left|\nabla u_{\lambda}\right|^{p-2}+\left|\nabla u_{\lambda}\right|^{q-2}\right) \nabla u_{\lambda} \cdot \nabla w d x \\
& \quad+\int_{\Omega}\left(\rho_{1}\left|u_{\lambda}\right|^{p-2}+\rho_{2}\left|u_{\lambda}\right|^{q-2}\right) u_{\lambda} w d x \\
& \quad+\int_{\partial \Omega}\left(\gamma_{1}\left|u_{\lambda}\right|^{p-2}+\gamma_{2}\left|u_{\lambda}\right|^{q-2}\right) u_{\lambda} w d \sigma  \tag{4}\\
& \quad=\lambda\left(\int_{\Omega} \alpha\left|u_{\lambda}\right|^{r-2} u_{\lambda} w d x+\int_{\partial \Omega} \beta\left|u_{\lambda}\right|^{r-2} u_{\lambda} w d \sigma\right)
\end{align*}
$$

This $u_{\lambda}$ is called an eigenfunction of the problem (1) (corresponding to the eigenvalue $\lambda$ ).

According to a Green type formula (see [11], p. 71), $u \in W \backslash\{0\}$ is a solution of (1) if and only if it satisfies (4).

Remark 1.2. Choosing $w=u_{\lambda}$ in (4) shows that the eigenvalues of problem (1) cannot be negative. It is also obvious, taking into account the assumptions $\left(h_{\rho_{i} \gamma_{i}}\right)$, that 0 can not be an eigenvalue of problem (1).

Now, let us introduce the notations

$$
\begin{align*}
K_{p}(u) & :=\int_{\Omega}\left(|\nabla u|^{p}+\rho_{1}|u|^{p}\right) d x+\int_{\partial \Omega} \gamma_{1}|u|^{p} d \sigma \\
K_{q}(u) & :=\int_{\Omega}\left(|\nabla u|^{q}+\rho_{2}|u|^{q}\right) d x+\int_{\partial \Omega} \gamma_{2}|u|^{q} d \sigma  \tag{5}\\
k_{r}(u) & :=\int_{\Omega} \alpha|u|^{r} d x+\int_{\partial \Omega} \beta|u|^{r} d \sigma \forall u \in W
\end{align*}
$$

Note that any eigenfunction $u_{\lambda}$ corresponding to an eigenvalue $\lambda>0$ satisfies $k_{r}\left(u_{\lambda}\right)>0$, hence all eigenfunctions corresponding to positive eigenvalues necessarily belong to $W \backslash \mathcal{Z}, \mathcal{Z}:=\left\{v \in W ; k_{r}(v)=0\right\}$.

In order to state our main results, let us define

$$
\begin{equation*}
\widehat{\lambda}_{q}:=\inf _{w \in W \backslash z} \frac{K_{q}(w)}{k_{q}(w)}, \widehat{\lambda}_{p}:=\inf _{w \in W \backslash z} \frac{K_{p}(w)}{k_{p}(w)}, \tag{6}
\end{equation*}
$$

$$
\begin{align*}
\lambda_{*} & :=\inf _{w \in W \backslash z} \Gamma \frac{K_{p}(w)^{\omega} K_{q}(w)^{1-\omega}}{k_{r}(w)}, \lambda^{*}=\frac{r}{p^{\omega} q^{1-\omega}} \lambda_{*}  \tag{7}\\
\omega & :=\frac{q-r}{q-p}, \quad \Gamma:=\frac{q-p}{(r-p)^{1-\omega}(q-r)^{\omega}}
\end{align*}
$$

Let us now state the main results of this paper.
Theorem 1.3. Assume that $\left(h_{p q r}\right)$, $\left(h_{\alpha \beta}\right)$, $\left(h_{\rho_{i} \gamma_{i}}\right)$ are fulfilled.
(a) If $r=p$, then $\widehat{\lambda}_{p}>0$ and the set of eigenvalues of problem (1) is precisely $\left(\widehat{\lambda}_{p}, \infty\right)$;
(b) If $r=q$, then $\widehat{\lambda}_{q}>0$ and the set of eigenvalues of problem (1) is precisely $\left(\widehat{\lambda}_{q}, \infty\right)$.
Theorem 1.4. Assume that $\left(h_{p q r}\right),\left(h_{\alpha \beta}\right),\left(h_{\rho_{i} \gamma_{i}}\right)$ are fulfilled.
(a) If either $(r<p)$ or $(r>q$ with $r<q(N-1) /(N-q)$ in case $q<N)$, then the set of eigenvalues of problem (1) equals $(0, \infty)$;
(b) If $p<r<q$ with $r<p(N-1) /(N-p)$ in case $p<N$, then $0<\lambda_{*}<\lambda^{*}$ and every $\lambda \in\left[\lambda^{*}, \infty\right)$ is an eigenvalue of problem (1); for any $\lambda \in\left(-\infty, \lambda_{*}\right)$ problem (1) has only the trivial solution.

Moreover, the constants $\lambda_{*}, \lambda^{*}$ can be expressed as follows

$$
\begin{equation*}
\lambda_{*}=\inf _{v \in W \backslash z} \frac{K_{p}(v)+K_{q}(v)}{k_{r}(v)}, \quad \lambda^{*}=\inf _{v \in W \backslash z} \frac{\frac{1}{p} K_{p}(v)+\frac{1}{q} K_{q}(v)}{\frac{1}{r} k_{r}(v)} . \tag{8}
\end{equation*}
$$

Remark 1.5. Regarding the assumptions $(r<q(N-1) /(N-q)$ if $q<$ $N)$, and $(r<p(N-1) /(N-p)$ if $1<p<N)$ in Theorem 1.4 (a) and (b), respectively, we point out that these are directly related to the well-known compact embedding $W^{1, \theta}(\Omega) \hookrightarrow L^{r}(\Omega)$ which holds when $1<r<\theta^{*}$, where $\theta^{*}=\theta N /(N-\theta)$ if $1<\theta<N$, and the trace compact embedding $W^{1, \theta}(\Omega) \hookrightarrow$ $L^{r}(\partial \Omega)$ if $1<r<\widetilde{\theta}$, where $\widetilde{\theta}=\theta(N-1) /(N-\theta)$ if $\theta<N$ (see [1], [10, Section 9.3]).

If $\gamma_{1}=\gamma_{2}=\beta \equiv 0$ (i.e., the boundary condition is of Neumann type), Theorem 1.4 still holds if in the cases $q<N$ and $p<N$ the conditions $r<q(N-1) /(N-q)$ and $r<p(N-1) /(N-p)$ are replaced by the weaker conditions $r<q N /(N-q)$ and $r<q N /(N-q)$, respectively, since in this case we need only the compact embedding $W^{1, \theta}(\Omega) \hookrightarrow L^{r}(\Omega), \theta \in\{p, q\}$.

Eigenvalue problems for the $(p, q)$-Laplacian have been extensively investigated in recent years. For the case of the Dirichlet boundary condition we refer to Bobkov and Tanaka [8], Cherfils and Il'yasov [12], Faria, Miyagaki and Motreanu [15] and the references therein.

The spectrum of problem (1), which we describe herein, coincides with the Neumann-like, Robin-like, and Steklov-like eigenvalue problems corresponding to the cases when some of the functions $\alpha, \beta, \gamma_{i}$ vanish.

The generalized Steklov spectrum in the case $\rho_{i} \equiv 0, \gamma_{i} \equiv 0, i=1,2$, was investigated by the authors in $[3,4,6]$. Note also that the particular case $\alpha \equiv 1, \beta \equiv 0$ and $\rho_{i} \equiv 0, i=1,2, \gamma_{1} \equiv 0, \gamma_{2} \equiv$ const. $>0, r \in\{p, q\}$, i.e., the case of the $(p, q)$-Laplacian with a Robin boundary condition, was investigated by Gyulov and Moroşanu in [17]. Let us also mention the paper by Papageorgiou, Vetro and Vetro [19] concerning the case $\rho_{1} \equiv 0, \gamma_{1} \equiv$ $0, \gamma_{2} \equiv$ const. $>0, r=q$, with the potential function $\rho_{2}$ being sign changing. Also, the problem (1) in the case $r=q, a \equiv 0, b \equiv 1$ was studied by Barbu and Moroşanu in [5].

Notice that the arguments we shall use in the proof of Theorem 1.3 are essentially known from $[2,4,5]$, but here those arguments are adapted to the present context and presented for the convenience of the reader.

While in the previous papers [17], [19] only subsets of the corresponding spectra were determined, in this paper the presence of the potential functions $\rho_{i}, \gamma_{i}$ satisfying assumptions ( $h_{\rho_{i} \gamma_{i}}$ ) allows the full description of the spectrum in four cases out of five.

## 2 Preliminary results

In this section we state some auxiliary results which will be used in the proofs of our main results.

First of all, note that for $\theta \in(1, \infty)$ and $r<\tilde{\theta}$ if $\theta<N, u \rightarrow\left(k_{r}(u)\right)^{\frac{1}{r}}$ is a seminorm on $W^{1, \theta}(\Omega)$ which satisfies
(i) $\exists d>0$ such that $k_{r}(u)^{\frac{1}{r}} \leq d\|u\|_{W^{1, \theta}(\Omega)} \quad \forall u \in W^{1, \theta}(\Omega)$, and
(ii) if $u \equiv$ const., then $k_{r}(u)=0$ implies $u \equiv 0$.

Hence, from [13, Proposition 3.9.55] we obtain the following result
Lemma 2.1. Assume that assumptions $\left(h_{\alpha \beta}\right)$ are fulfilled, $\theta, r \in(1, \infty)$ and $r<\widetilde{\theta}$ if $\theta<N$. Then

$$
\|u\|_{\theta, r}:=\|\nabla u\|_{L^{\theta}(\Omega)}+\left(k_{r}(u)\right)^{\frac{1}{r}} \forall u \in W^{1, \theta}(\Omega)
$$

is a norm on $W^{1, \theta}(\Omega)$, equivalent to the standard one.
Remark 2.2. Under assumptions $\left(h_{\rho_{i} \gamma_{i}}\right), K_{p}(\cdot)^{1 / p}$ and $K_{q}(\cdot)^{1 / q}$ are norms equivalent to the usual norms of the Sobolev spaces $W^{1, p}(\Omega)$ and $W^{1, q}(\Omega)$, respectively.

Next, for $\theta>1$, we consider the eigenvalue problem

$$
\left\{\begin{array}{l}
-\Delta_{\theta} u+\rho(x)|u|^{\theta-2} u=\lambda \alpha(x)|u|^{\theta-2} u \text { in } \Omega  \tag{9}\\
|\nabla u|^{\theta-2} \frac{\partial u}{\partial \nu}+\gamma(x)|u|^{\theta-2} u=\lambda \beta(x)|u|^{\theta-2} u \text { on } \partial \Omega
\end{array}\right.
$$

where $\rho \in L^{\infty}(\Omega)$ and $\gamma \in L^{\infty}(\partial \Omega)$ are given nonnegative functions satisfying

$$
\begin{equation*}
\int_{\Omega} \rho d x+\int_{\partial \Omega} \gamma d \sigma>0 . \tag{10}
\end{equation*}
$$

As usual, the number $\lambda \in \mathbb{R}$ is said to be an eigenvalue of problem (9) if there exists a function $u_{\lambda} \in W^{1, \theta}(\Omega) \backslash\{0\}$ such that for all $w \in W^{1, \theta}(\Omega)$

$$
\begin{gathered}
\int_{\Omega}\left|\nabla u_{\lambda}\right|^{\theta-2} \nabla u_{\lambda} \cdot \nabla w d x+\int_{\Omega} \rho\left|u_{\lambda}\right|^{\theta-2} u_{\lambda} w d x+\int_{\partial \Omega} \gamma\left|u_{\lambda}\right|^{\theta-2} u_{\lambda} w d \sigma \\
=\lambda\left(\int_{\Omega} \alpha\left|u_{\lambda}\right|^{\theta-2} u_{\lambda} w d x+\int_{\partial \Omega} \beta\left|u_{\lambda}\right|^{\theta-2} u_{\lambda} w d \sigma\right)
\end{gathered}
$$

By arguments similar to those used in the case of problem (1) we can show that the eigenvalues of problem (9) are positive and the corresponding eigenfunctions belong to $W^{1, \theta}(\Omega) \backslash z_{\theta}$, where

$$
z_{\theta}:=\left\{w \in W^{1, \theta}(\Omega) ; k_{\theta}(w):=\int_{\Omega} \alpha|u|^{\theta} d x+\int_{\partial \Omega} \beta|u|^{\theta} d \sigma=0\right\},
$$

Define the $C^{1}$ functional

$$
\Theta_{\theta}: W^{1, \theta}(\Omega) \backslash z_{\theta} \rightarrow(0, \infty), \Theta_{\theta}(v):=\frac{K_{\theta}(v)}{k_{\theta}(v)} \forall v \in W^{1, \theta}(\Omega) \backslash z_{\theta},
$$

where $K_{\theta}(u):=\int_{\Omega}\left(|\nabla u|^{p}+\rho|u|^{p}\right) d x+\int_{\partial \Omega} \gamma|u|^{p} d \sigma$.
Lemma 2.3. Assume that the assumption $\left(h_{\alpha \beta}\right)$ is fulfilled and $\rho \in L^{\infty}(\Omega), \gamma \in$ $L^{\infty}(\partial \Omega)$ are given nonnegative functions satisfying (10). Then there exists $u_{*} \in W^{1, \theta}(\Omega) \backslash z_{\theta}$ such that

$$
\Theta_{\theta}\left(u_{*}\right)=\lambda_{\theta}:=\inf _{w \in W^{1, \theta}(\Omega) \backslash z_{\theta}} \Theta_{\theta}(w)>0 .
$$

In addition, $\lambda_{\theta}$ is the smallest eigenvalue of the problem (9) and $u_{*}$ is an eigenfunction corresponding to $\lambda_{\theta}$.

The proof of this result is based on arguments similar to those used in the proof of Lemma 2 in [5] (see also [18, Proposition 3.1]), so we omit it.

Now, for $\lambda>0$ define the $C^{1}$ energy functional for problem (1)

$$
\begin{equation*}
\mathcal{J}_{\lambda}: W \rightarrow \mathbb{R}, \mathcal{J}_{\lambda}(u)=\frac{1}{p} K_{p}(u)+\frac{1}{q} K_{q}(u)-\frac{\lambda}{r} k_{r}(u) \forall u \in W . \tag{11}
\end{equation*}
$$

Obviously, according to Definition 1.1, $\lambda$ is an eigenvalue of problem (1) with corresponding eigenfunction $u_{\lambda} \in W \backslash\{0\}$ if and only if $u_{\lambda}$ is a critical point of $\mathcal{J}_{\lambda}$, i.e. $\mathcal{J}_{\lambda}^{\prime}\left(u_{\lambda}\right)=0$.

The following lemma will be an important ingredient in the proof of our main results.

Lemma 2.4. Assume that $\left(h_{p q r}\right),\left(h_{\alpha \beta}\right),\left(h_{\rho_{i} \gamma_{i}}\right)$ are fulfilled and $r \in(1, q)$. Then the functional $\mathcal{J}_{\lambda}$ is coercive on $W$, i.e., $\lim _{\|u\|_{W} \rightarrow \infty} \mathcal{J}_{\lambda}(u)=\infty$.

Proof. Assume by way of contradiction that functional $\mathcal{J}_{\lambda}$ is not coercive. So, there exist a positive constant $C$ and a sequence $\left(u_{n}\right)_{n} \subset W$ such that $\left\|u_{n}\right\|_{W} \rightarrow \infty$ as $n \rightarrow \infty$ and $\mathcal{J}_{\lambda}\left(u_{n}\right) \leq C \forall n \geq 1$. Therefore

$$
\begin{equation*}
\frac{1}{p} K_{p}\left(u_{n}\right)+\frac{1}{q} K_{q}\left(u_{n}\right)-\frac{\lambda}{r} k_{r}\left(u_{n}\right) \leq C \quad \forall n \geq 1 . \tag{12}
\end{equation*}
$$

In particular,

$$
\begin{equation*}
0 \leq \frac{1}{q} K_{q}\left(u_{n}\right) \leq \frac{\lambda}{r} k_{r}\left(u_{n}\right)+C \forall n \geq 1 \tag{13}
\end{equation*}
$$

It follows from estimate (13) and Remark 2.2 that $k_{r}\left(u_{n}\right) \rightarrow \infty$ as $n \rightarrow \infty$.
Define $v_{n}:=u_{n} /\left(k_{r}\left(u_{n}\right)^{1 / r}\right) \forall n \geq 1$ and divide inequality (13) by $k_{r}\left(u_{n}\right)^{q / r}$. As $r<q$, we obtain that $K_{q}\left(v_{n}\right) \rightarrow 0$ as $n \rightarrow \infty$. Hence, $v_{n} \rightarrow 0$ in $W$ (see Remark 2.2) as well as in $L^{r}(\Omega)$ and in $L^{r}(\partial \Omega)$. In particular, $k_{r}\left(v_{n}\right) \rightarrow 0$, as $n \rightarrow \infty$, but this contradicts the fact that $k_{r}\left(v_{n}\right)=1$ for all $n \geq 1$. So, $\mathscr{J}_{\lambda}$ is coercive on $W$.

Remark 2.5. Let $\lambda>0$ be fixed. Under the assumptions of Lemma 2.4, if there exists $u_{0 \lambda} \in W \backslash\{0\}$ such that $\mathcal{J}_{\lambda}\left(u_{0 \lambda}\right)<0$, then $\lambda$ is an eigenvalue of problem (1). Indeed, taking into account Lemma 2.4, the functional $\mathcal{J}_{\lambda}$ is coercive on $W$. Obviously, $\mathcal{J}_{\lambda}$ is also weakly lower semicontinuous on $W$. So, there exists a global minimizer $u_{*} \in W$ for $\mathcal{J}_{\lambda}$, i.e., $\mathcal{J}_{\lambda}\left(u_{*}\right)=\min _{W} \mathcal{J}_{\lambda}$ (see, e.g., [20, Theorem 1.2]). We notice that $\mathcal{J}_{\lambda}\left(u_{*}\right) \leq \mathcal{J}_{\lambda}\left(u_{0 \lambda}\right)<0$, which implies $u_{*} \neq 0$. In addition, $\mathscr{J}_{\lambda}^{\prime}\left(u_{*}\right)=0$ and so $u_{*}$ is an eigenfunction of problem (1) corresponding to the eigenvalue $\lambda$.

## 3 Proof of Theorem 1.3

Throughout this section we assume that $\left(h_{p q r}\right),\left(h_{\alpha \beta}\right)$ and $\left(h_{\rho_{i} \gamma_{i}}\right)$ are fulfilled and will be used without mentioning them in the statements below.

### 3.1 Proof of Theorem 1.3 (a)

In this subsection we will address the case $r=p$. The proof of Theorem 1.3 $(a)$ is based on the following two lemmas.

Lemma 3.1. If $r=p$, then $\widehat{\lambda}_{p}>0$ and there is no eigenvalue of problem (1) in $\left(-\infty, \widehat{\lambda}_{p}\right]$. Moreover, we have the equality

$$
\begin{equation*}
\tilde{\lambda}_{p}:=\inf _{w \in W \backslash z} \frac{\frac{1}{q} K_{q}(w)+\frac{1}{p} K_{p}(w)}{\frac{1}{q} k_{p}(w)}=\widehat{\lambda}_{p} \tag{14}
\end{equation*}
$$

Proof. First, we deduce from Lemma 2.3 with $\theta=p$ that $\hat{\lambda}_{p}>\lambda_{p}=\Theta_{p}\left(u^{*}\right)>$ 0 . As we pointed out in Remark 1.2, all the eigenvalues of problem (1) must be positive.

Now, let us check that there is no eigenvalue of problem (1) in $\left(-\infty, \widehat{\lambda}_{p}\right]$. Assume the contrary, that there is an eigenpair $\left(\lambda, u_{\lambda}\right) \in\left(-\infty, \widehat{\lambda}_{p}\right] \times(W \backslash Z)$. Then (4) with $w=u_{\lambda}$ will imply

$$
\begin{equation*}
\lambda=\frac{K_{q}\left(u_{\lambda}\right)+K_{p}\left(u_{\lambda}\right)}{k_{p}\left(u_{\lambda}\right)} \leq \widehat{\lambda}_{p} \tag{15}
\end{equation*}
$$

On one hand, if $\lambda<\widehat{\lambda}_{p}$, we have a contradiction with the definition of $\widehat{\lambda}_{p}$. On the other hand, if $\lambda=\widehat{\lambda}_{p}$ we have $K_{q}\left(u_{\lambda}\right)=0$ which implies $u_{\lambda} \equiv 0$ (see Remark 2.2). This is impossible since $u_{\lambda}$ was assumed to be an eigenfunction.

Finally, let us check the equality (14). The estimate $\widehat{\lambda}_{p} \leq \widetilde{\lambda}_{p}$ is obvious. On the other hand, for each $v \in W \backslash Z$ and $t>0$, we have

$$
\widetilde{\lambda}_{p}=\inf _{w \in W \backslash Z} \frac{\frac{p}{q} K_{q}(w)+K_{p}(w)}{k_{p}(w)} \leq \frac{K_{p}(v)}{k_{p}(v)}+t^{q-p} \frac{p K_{q}(v)}{q k_{p}(v)} .
$$

Now letting $t \rightarrow 0$, then passing to infimum over all $v \in W \backslash Z$, we get the claimed inequality.

Lemma 3.2. If $r=p$, then every $\lambda>\widehat{\lambda}_{p}$ is an eigenvalue of problem (1).
Proof. Let $\lambda>\widehat{\lambda}_{p}$ be fixed. From Lemma 2.4 with $r=p$, the functional $\mathcal{J}_{\lambda}$ is coercive on $W$.

On the other hand, from Lemma 3.1 we get $\hat{\lambda}_{p}=\tilde{\lambda}_{p}$ hence, as $\lambda>\hat{\lambda}_{p}$, there is some $u_{0 \lambda} \in W \backslash Z$ satisfying $\mathcal{J}_{\lambda}\left(u_{0 \lambda}\right)<0$. Consequently, according to Remark 2.5, $\lambda$ is an eigenvalue of problem (1).

Finally, the conclusions of Theorem $1.3(a)$ follow from Lemmas 3.1 and 3.2.

### 3.2 Proof of Theorem 1.3 (b)

If $r=q$ we cannot expect to have coercivity on $W$ of the functional $\mathcal{J}_{\lambda}$. So, we need to use another approach. Consider the Nehari type manifold defined by

$$
\mathcal{N}_{\lambda}=\left\{v \in W \backslash\{0\} ;\left\langle\mathcal{J}_{\lambda}^{\prime}(v), v\right\rangle=K_{p}(v)+K_{q}(v)-\lambda k_{q}(v)=0\right\}
$$

We shall consider the restriction of $\mathcal{J}_{\lambda}$ to $\mathcal{N}_{\lambda}$ since any possible eigenfunction corresponding to $\lambda$ belongs to $\mathcal{N}_{\lambda}$. Note that on $\mathcal{N}_{\lambda}$ functional $\mathcal{J}_{\lambda}$ has the form

$$
\begin{equation*}
\mathcal{J}_{\lambda}(u)=\frac{q-p}{q p} K_{p}(u)>0 \forall u \in \mathcal{N}_{\lambda} \tag{16}
\end{equation*}
$$

Remark 3.3. Taking into account assumptions $\left(h_{\rho_{i} \gamma_{i}}\right)$, it is obvious that $\mathcal{N}_{\lambda} \subset$ $W \backslash Z$.

As in the preceding case, we have
Lemma 3.4. If $r=q$, then $\hat{\lambda}_{q}>0$ and there is no eigenvalue of problem (1) in $\left(-\infty, \widehat{\lambda}_{q}\right]$. Moreover, we have the equality

$$
\begin{equation*}
\widetilde{\lambda}_{q}:=\inf _{w \in W \backslash z} \frac{\frac{q}{p} K_{p}(w)+K_{q}(w)}{k_{q}(w)}=\widehat{\lambda}_{q} . \tag{17}
\end{equation*}
$$

The proof is similar to the proof of Lemma 3.1, so we omit it.
In what follows, until further notice, $\lambda>\widehat{\lambda}_{q}$ will be a fixed real number.
Lemma 3.5. If $r=q$, then there exists a point $u_{*} \in \mathcal{N}_{\lambda}$ where $\mathcal{J}_{\lambda}$ attains its minimal value over $\mathcal{N}_{\lambda}, m_{\lambda}:=\inf _{w \in \mathcal{N}_{\lambda}} \mathcal{J}_{\lambda}(w)>0$.
Proof. We shall follow an argument similar to that used in [2, Case 2, Steps 1-4]. So, we split the proof into four steps.

Step 1. $\mathcal{N}_{\lambda} \neq \emptyset$.
In fact, from $\lambda>\widehat{\lambda}_{q}$ and the definition of $\widehat{\lambda}_{q}$ (see (6)) there exists $v_{0} \in W \backslash \mathcal{Z}$ such that $K_{q}\left(v_{0}\right)<\lambda k_{q}\left(v_{0}\right)$. In addition, taking into account assumptions $\left(h_{\rho_{i} \gamma_{i}}\right)$, we have $K_{p}\left(v_{0}\right)>0$.

We claim that for a convenient $\tau>0, \tau v_{0} \in \mathcal{N}_{\lambda}$. Indeed, the condition $\tau v_{0} \in \mathcal{N}_{\lambda}, \tau>0$, reads $\tau^{p} K_{p}\left(v_{0}\right)+\tau^{q} K_{q}\left(v_{0}\right)=\lambda \tau^{q} k_{q}\left(v_{0}\right)$. This equation can be solved for $\tau$, and hence, for this $\tau$ we have $\tau v_{0} \in \mathcal{N}_{\lambda}$.

Step 2. Every minimizing sequence $\left(u_{n}\right)_{n} \subset \mathcal{N}_{\lambda}$ for $\mathcal{J}_{\lambda}$ restricted to $\mathcal{N}_{\lambda}$ is bounded in $W$.

Let $\left(u_{n}\right)_{n} \subset \mathcal{N}_{\lambda}$ be such a minimizing sequence for $\mathcal{J}_{\lambda}$. Assume by contradiction that $\left(u_{n}\right)_{n}$ is unbounded in $W$ hence, on a subsequence, again denoted $\left(u_{n}\right)_{n}$, we have $\left\|u_{n}\right\| \rightarrow \infty$. Since $\left(u_{n}\right)_{n} \subset \mathcal{N}_{\lambda}$, we have (see equality (16))

$$
\begin{equation*}
\mathcal{J}_{\lambda}\left(u_{n}\right)=\frac{q-p}{q p} K_{p}\left(u_{n}\right) \rightarrow m_{\lambda} \geq 0 \text { as } n \rightarrow \infty \tag{18}
\end{equation*}
$$

and

$$
\begin{equation*}
0<\lambda k_{q}\left(u_{n}\right)=K_{p}\left(u_{n}\right)+K_{q}\left(u_{n}\right) \forall n \geq 1 \tag{19}
\end{equation*}
$$

It follows from (19) and Remark 2.2 that

$$
\begin{equation*}
k_{q}\left(u_{n}\right) \rightarrow \infty \quad \text { as } n \rightarrow \infty \tag{20}
\end{equation*}
$$

Set $v_{n}=u_{n} /\left(k_{q}\left(u_{n}\right)^{1 / q}\right), n \geq 1$. Obviously, $k_{q}\left(v_{n}\right)=1 \forall n \geq 1$. Now, from (19) it follows $K_{q}\left(v_{n}\right) \leq \lambda$ for all $n \geq 1$, so $\left(v_{n}\right)_{n}$ is bounded in $W$. Therefore, there exists $v_{0} \in W$ such that $v_{n} \rightharpoonup v_{0}$ in $W$ (hence also in $W^{1, p}(\Omega)$ to the same $v_{0}$ ) and $v_{n} \rightarrow v_{0}$ in $L^{q}(\Omega)$ as well as in $L^{q}(\partial \Omega)$. In addition, we also have $k_{q}\left(v_{0}\right)=1$. Now, dividing (18) by $k_{q}\left(u_{n}\right)^{p / q}$ and making use of (20), we see that $K_{p}\left(v_{n}\right) \rightarrow 0$, and so $v_{0} \equiv 0$ which contradicts the fact that $k_{q}\left(v_{0}\right)=1$. Therefore, $\left(u_{n}\right)_{n}$ is bounded in $W$.

Step 3. $m_{\lambda}:=\inf _{w \in \mathcal{N}_{\lambda}} \mathscr{J}_{\lambda}(w)>0$.
Otherwise, suppose $m_{\lambda}=0$ and let $\left(u_{n}\right)_{n} \subset \mathcal{N}_{\lambda}$ be a minimizing sequence for $\mathscr{J}_{\lambda}$. By Step $2,\left(u_{n}\right)_{n}$ is bounded in $W$, so for some $u_{0} \in W, u_{n} \rightharpoonup u_{0}$ (on a subsequence) in $W$ (and also weakly in $W^{1, p}(\Omega)$ to the same $u_{0}$ ), and $u_{n} \rightarrow u_{0}$ in $L^{q}(\Omega)$ as well as in $L^{q}(\partial \Omega)$. We have (see (18)) $K_{p}\left(u_{n}\right) \rightarrow 0$, hence $u_{0} \equiv 0$ (see Remark 2.2).

Note that $k_{q}\left(u_{n}\right)>0$ for all $n \geq 1$ (see Remark 3.3) and $k_{q}\left(u_{n}\right) \rightarrow 0$ as $n \rightarrow \infty$. Now, from (19) we obtain that $K_{q}\left(v_{n}\right) \leq \lambda$ for all $n \geq 1$, so the sequence $\left(v_{n}\right)_{n}$ is bounded in $W$ (see Step 2 for the definition of $\left.\left(v_{n}\right)_{n}\right)$. Hence, on a subsequence, $v_{n} \rightharpoonup v_{0}$ in $W$ and $v_{n} \rightarrow v_{0}$ in $L^{q}(\Omega)$ as well as in $L^{q}(\partial \Omega)$, for some $v_{0} \in W$. Now, we divide (19) by $k_{q}\left(u_{n}\right)^{p / q}$ to obtain

$$
K_{p}\left(v_{n}\right)=k_{q}\left(u_{n}\right)^{(q-p) / q}\left[\lambda-K_{q}\left(v_{n}\right)-k_{q}\left(v_{n}\right)\right] \rightarrow 0
$$

This implies $v_{n} \rightharpoonup 0$ in $W^{1, p}(\Omega)$. In particular, $k_{q}\left(v_{n}\right) \rightarrow 0$, which is a contradiction. This contradiction shows that $m_{\lambda}>0$.

Step 4. There exists $u_{*} \in \mathcal{N}_{\lambda}$ such that $\mathcal{J}_{\lambda}\left(u_{*}\right)=m_{\lambda}$.
Let $\left(u_{n}\right)_{n} \subset \mathcal{N}_{\lambda}$ be a minimizing sequence, i.e., $\mathcal{J}_{\lambda}\left(u_{n}\right) \rightarrow m_{\lambda}$. In particular, the sequence $\left(u_{n}\right)_{n}$ satisfies (19) and is bounded in $W$ by Step 3 , thus on a subsequence $u_{n} \rightharpoonup u_{*} \in W$ and strongly in both $L^{q}(\Omega)$ and $L^{q}(\partial \Omega)$ (to the same $u_{*}$ ). In addition, $u_{*} \not \equiv 0$. Otherwise, if $u_{*} \equiv 0$, we infer by (19) that $\left(K_{p}\left(u_{n}\right)\right)_{n}$ converges to 0 . Then (18) will give $m_{\lambda}=0$ thus contradicting the statement of Step 3. By passing to limit as $n \rightarrow \infty$ in (19), we find

$$
\begin{equation*}
K_{p}\left(u_{*}\right)+K_{q}\left(u_{*}\right) \leq \lambda k_{q}\left(u_{*}\right) \tag{21}
\end{equation*}
$$

If we have equality in (21), then $u_{*} \in \mathcal{N}_{\lambda}$ and the proof is complete since in this case $\mathcal{J}_{\lambda}\left(u_{*}\right)=m_{\lambda}$. In what follows we show that the strict inequality

$$
\begin{equation*}
K_{p}\left(u_{*}\right)+K_{q}\left(u_{*}\right)<\lambda k_{q}\left(u_{*}\right) \tag{22}
\end{equation*}
$$

is impossible. Let us assume by contradiction that (22) holds true. We check that there exists $\tau \in(0,1)$ such that $\tau u_{*} \in \mathcal{N}_{\lambda}$. For this purpose, we consider the function

$$
f:(0, \infty) \rightarrow \mathbb{R}, f(t):=t^{p-q} K_{p}\left(u_{*}\right)+K_{q}\left(u_{*}\right)-\lambda k_{q}\left(u_{*}\right)
$$

As $K_{p}\left(u_{*}\right)>0$, we have $f(t) \rightarrow \infty$ as $t \rightarrow 0_{+}$. Since $f(1)<0$ (see (22)), there exists $\tau \in(0,1)$ such that $f(\tau)=0$ which implies $\tau u_{*} \in \mathcal{N}_{\lambda}$. But then,

$$
0<m_{\lambda} \leq \mathcal{J}_{\lambda}\left(\tau u_{*}\right)=\tau^{p} \frac{q-p}{q p} K_{p}\left(u_{*}\right) \leq \tau^{p} \lim _{n \rightarrow \infty} \mathcal{J}_{\lambda}\left(u_{n}\right)=\tau^{p} m_{\lambda}<m_{\lambda}
$$

which is impossible.
Lemma 3.6. If $r=q$, the minimizer $u_{*} \in \mathcal{N}_{\lambda}$ from Lemma 3.5 is an eigenfunction of problem (1) with corresponding eigenvalue $\lambda$.
Proof. First, note that $u_{*}$ is a solution of the constraint minimization problem.

$$
\min _{v \in W \backslash\{0\}} \mathcal{J}_{\lambda}(v), \quad g_{q}(v):=K_{p}(v)+K_{q}(v)-\lambda k_{q}(v)=0
$$

Next, we are going to check that $\mathcal{R}\left(g_{q}^{\prime}\left(u_{*}\right)\right)=\mathbb{R}$, i.e., for all $\xi \in \mathbb{R}$ there exists a $w \in W \backslash\{0\}$ such that $\left\langle g_{q}^{\prime}\left(u_{*}\right), w\right\rangle=\xi$ (here $\mathcal{R}\left(g_{q}^{\prime}\left(u_{*}\right)\right)$ stands for the range of $\left.g_{q}^{\prime}\left(u_{*}\right)\right)$. Indeed, if we choose in the above equations $w$ of the form $w=\chi u_{*}, \quad \chi \in \mathbb{R}$ making use of $u_{*} \in \mathcal{N}_{\lambda}$, we obtain

$$
\chi\left(p K_{p}\left(u_{*}\right)+q\left(K_{q}\left(u_{*}\right)-\lambda k_{q}\left(u_{*}\right)\right)=\xi \Leftrightarrow \chi K_{p}\left(u_{*}\right)(p-q)=\xi\right.
$$

which has a unique solution $\chi$ (by Remark 2.2). Applying the Lagrange multiplier rule $[16$, Theorem 3.29 , p. 496], we can find $\mu \in \mathbb{R}$ such that

$$
\left\langle\partial_{\lambda}^{\prime}\left(u_{*}\right), v\right\rangle+\mu\left\langle g_{q}^{\prime}\left(u_{*}\right), v\right\rangle=0, \quad \forall v \in W .
$$

Testing with $v=u_{*}$ and using the fact that $u_{*} \in \mathcal{N}_{\lambda}$, we derive that

$$
\mu(p-q) K_{p}\left(u_{*}\right)=0
$$

which implies $\mu=0$. Therefore $\left\langle\mathcal{J}_{\lambda}^{\prime}\left(u_{*}\right), v\right\rangle=0, \forall v \in W$, i.e., $\lambda$ is an eigenvalue of problem (1).

Finally, we see that Theorem 1.3 (b) follows from Lemmas 3.4, 3.5 and 3.6.

## 4 Proof of Theorem 1.4

We shall prove Theorem 1.4 through a series of lemmas based on the assumptions $\left(h_{p q r}\right),\left(h_{\alpha \beta}\right)$ and $\left(h_{\rho_{i} \gamma_{i}}\right)$ which will not be mentioned explicitly in the statements.

### 4.1 Proof of Theorem 1.4 (a)

The proof of Theorem 1.4 (a) is based on some intermediate results, as follows.

Lemma 4.1. If $r<p$, then every $\lambda>0$ is an eigenvalue of problem (1).
Proof. Let $\lambda>0$ be fixed. According to Lemma 2.4, the functional $\mathcal{J}_{\lambda}$ is coercive.
Now, for $t>0$, we have

$$
t \rightarrow \frac{\partial_{\lambda}}{t^{r}}(t)=\frac{t^{p-r}}{p} k_{1}+\frac{t^{q-r}}{q} k_{2}-\frac{\lambda}{r} k_{r}(1) \rightarrow-\frac{\lambda}{r} k_{r}(1)<0 \text { as } t \rightarrow 0_{+},
$$

where $k_{i}:=\int_{\Omega} \rho_{i} d x+\int_{\partial \Omega} \gamma_{i} d x>0, i=1,2$. Hence $\mathcal{J}_{\lambda}\left(u_{*}\right)<0$ and, according to Remark 2.2 , the proof is complete.

In the rest of this subsection we suppose that $q<r$, and $r<\widetilde{q}$ if $q<N$. Let $\lambda>0$ be a fixed number. As in Subsection 3.2, under these assumptions we cannot expect to have coercivity of the functional $\mathcal{J}_{\lambda}$ on $W$. So, we need to consider another approach involving the Nehari manifold

$$
\begin{equation*}
\mathcal{N}_{\lambda}=\left\{v \in W \backslash\{0\} ;\left\langle\mathcal{J}_{\lambda}^{\prime}(w), w\right\rangle=K_{p}(v)+K_{q}(v)-\lambda k_{r}(v)=0\right\} \tag{23}
\end{equation*}
$$

Notice that on $\mathcal{N}_{\lambda}$ the functional $\mathcal{J}_{\lambda}$ is given by

$$
\begin{equation*}
\mathcal{J}_{\lambda}(u)=\frac{r-p}{p r} K_{p}(u)+\frac{r-q}{q r} K_{q}(u)>0 . \tag{24}
\end{equation*}
$$

Also, we claim that $\mathcal{N}_{\lambda} \neq \emptyset$. In this respect, we define

$$
h(t):=t^{p} K_{p}(1)+t^{q} K_{q}(1)-t^{r} \lambda k_{r}(1) \forall t>0
$$

Observing that the function $t \mapsto h(t)$ is continuous on $(0, \infty)$ and

$$
t^{-p} h(t) \rightarrow K_{p}(1)>0 \quad \text { as } t \rightarrow 0_{+}, t^{-r} h(t) \rightarrow-\lambda k_{r}(1)<0 \quad \text { as } t \rightarrow \infty
$$

we infer that there exists $\tau \in(0, \infty)$ such that $h(\tau)=0$, so $w \equiv \tau \in \mathcal{N}_{\lambda}$.
The proofs of the next two results can be achieved by using arguments similar to those from the proofs of Lemmas 3.5 and 3.6 above, so we omit them.
Lemma 4.2. Assume that $q<r$, and $r<\widetilde{q}$ if $q<N$. Then there exists a point $u_{*} \in \mathcal{N}_{\lambda}$ where $\mathcal{J}_{\lambda}$ attains its minimal value over $\mathcal{N}_{\lambda}, m_{\lambda}:=\inf _{w \in \mathcal{N}_{\lambda}} \mathcal{J}_{\lambda}(w)>0$.
Lemma 4.3. Assume that $q<r$, and $r<\widetilde{q}$ if $q<N$. Then the minimizer $u_{*} \in \mathcal{N}_{\lambda}$ from Lemma 4.2 is an eigenfunction of problem (1) corresponding to the eigenvalue $\lambda$.

Summing up, we see that Lemmas 4.1, 4.2, and 4.3 fully complete the proof of Theorem 1.4 (a).

### 4.2 Proof of Theorem 1.4 (b)

Lemma 4.4. Assume that $p<r<q$, and $r<\widetilde{p}$ if $p<N$. Then $0<\lambda_{*}<\lambda^{*}$, where $\lambda_{*}$ and $\lambda^{*}$ are the constants defined in (7).

Proof. Taking into account Lemma 2.1 with $\theta=p$, Remark 2.2, and the following continuous embeddings

$$
W^{1, q}(\Omega) \hookrightarrow W^{1, p}(\Omega) \hookrightarrow L^{r}(\Omega), W^{1, q}(\Omega) \hookrightarrow W^{1, p}(\Omega) \hookrightarrow L^{r}(\partial \Omega)
$$

we see that

$$
\begin{equation*}
K_{p}(v) \geq M_{1} k_{r}(v)^{\frac{p}{r}}, \quad K_{q}(v) \geq M_{2} k_{r}(v)^{\frac{q}{r}} \forall v \in W \backslash \mathbb{Z} \tag{25}
\end{equation*}
$$

where $M_{1}, M_{2}$ are two positive constants (independent of $v$ ). Next, from (25), since $p \omega+q(1-\omega)=r$, we obtain that there exists a positive constant $M$ (independent of $v$ ) such that

$$
\Gamma \frac{K_{p}(v)^{\omega} K_{q}(v)^{1-\omega}}{k_{r}(v)} \geq M \forall v \in W \backslash z .
$$

Finally, taking the infimum over all $v \in W \backslash Z$ in the above inequality, we infer that $M \leq \lambda_{*}$.

To complete the proof we need to show that $\lambda_{*}<\lambda^{*}$. This inequality is equivalent to (see (7))

$$
\frac{r}{p^{\omega} q^{1-\omega}}>1 \quad \Leftrightarrow \quad r^{q-p}>p^{q-r} q^{r-p}
$$

which can be rewritten as

$$
\left(1+\frac{q-p}{p}\right)^{\frac{p}{q-p}}<\left(1+\frac{r-p}{p}\right)^{\frac{p}{r-p}}
$$

So, the desired inequality follows, since the function $x \rightarrow(1+x)^{\frac{1}{x}}$ is decreasing on $(0, \infty)$ and $q-p>r-p$.

Lemma 4.5. Assume that $p<r<q$, and $r<\widetilde{p}$ if $p<N$. Then the constants $\lambda_{*}$ and $\lambda^{*}$ defined in (7) can be equivalently expressed by (8).

Proof. Let $v \in W \backslash Z$ be fixed. Define

$$
\begin{equation*}
T_{*}(v):=\frac{K_{p}(v)+K_{q}(v)}{k_{r}(v)}, \quad T^{*}(v):=\frac{\frac{r}{p} K_{p}(v)+\frac{r}{q} K_{q}(v)}{k_{r}(v)} \tag{26}
\end{equation*}
$$

$$
\begin{align*}
& g_{v}(t):=T_{*}(t v)=\frac{t^{p-r} K_{p}(v)+t^{q-r} K_{q}(v)}{k_{r}(v)} \\
& h_{v}(t):=T^{*}(t v)=\frac{\frac{r}{p} t^{p-r} K_{p}(v)+\frac{r}{q} t^{q-r} K_{q}(v)}{k_{r}(v)} \forall t>0 . \tag{27}
\end{align*}
$$

It is easy to see that the function $g_{v}$ achieves its minimal value $\lambda(v)>0$ on $(0, \infty)$ for $t=t(v)>0$, where

$$
\begin{equation*}
\lambda(v)=\Gamma \frac{K_{p}(v)^{\omega} K_{q}(v)^{1-\omega}}{k_{r}(v)}, t(v)=\left[\frac{(r-p) K_{p}(v)}{(q-r) K_{q}(v)}\right]^{\frac{1}{q-p}} \tag{28}
\end{equation*}
$$

It follows that

$$
\lambda(v)=T_{*}(t(v) v)=\inf _{t>0} \frac{K_{p}(t v)+K_{q}(t v)}{k_{r}(t v)}
$$

Now, taking the infimum over all $v \in W \backslash Z$, we obtain that

$$
\begin{equation*}
\lambda_{*}=\inf _{v \in W \backslash Z}\left(\inf _{t>0} \frac{K_{p}(t v)+K_{q}(t v)}{k_{r}(t v)}\right) \tag{29}
\end{equation*}
$$

Put $\xi_{*}:=\inf _{v \in W \backslash z} T_{*}(v), \quad \xi^{*}:=\inf _{v \in W \backslash z} T^{*}(v)$. The estimate $\xi_{*} \geq \lambda_{*}$ is obvious. On the other hand, for each $v \in W \backslash z$ we have $t(v) v \in W \backslash z$, so $\lambda(v) \geq \xi_{*}$, and taking the infimum over all $v \in W \backslash z$, we infer that $\xi_{*} \leq \lambda_{*}$. Hence, $\xi_{*}=\lambda_{*}$.

By a similar reasoning, as the function $h_{v}$ achieves its minimal value $\widehat{\lambda}(v)=$ $\frac{r}{p^{\omega} q^{1-\omega}} \lambda(v)>0$ on $(0, \infty)$ for $t=\widehat{t}(v)=\left(\frac{q}{p}\right)^{1 /(q-p)} t(v)>0$, we first get the equality

$$
\begin{equation*}
\lambda^{*}=\inf _{v \in W \backslash z}\left(\inf _{t>0} \frac{\frac{r}{p} K_{p}(t v)+\frac{r}{q} K_{q}(t v)}{k_{r}(t v)}\right) \tag{30}
\end{equation*}
$$

and finally $\xi^{*}=\lambda^{*}$.
Next, let us show that there exists $u_{*} \in W \backslash Z$ such that $\lambda_{*}=\lambda\left(u_{*}\right)$. To this purpose, we define the functional $\Phi: W \backslash z \rightarrow(0, \infty), v \rightarrow \lambda(v)$, that is

$$
\Phi(v):=\Gamma \frac{K_{p}(v)^{\omega} K_{q}(v)^{1-\omega}}{k_{r}(v)} \forall v \in W \backslash z
$$

Lemma 4.6. Assume that $p<r<q$, and $r<\widetilde{p}$ if $p<N$. Then there exists $u_{*} \in W \backslash Z$ such that $\lambda_{*}=\Phi\left(u_{*}\right)=\inf _{w \in W \backslash Z} \Phi(w)$.

Proof. First of all, taking into account the equality $p \omega+q(1-\omega)=r$, we see that functional $\Phi$ is positively homogeneous of zero degree, that is

$$
\Phi(t v)=\Phi(v) \forall t>0, v \in W \backslash z
$$

Hence, we can find a minimizing sequence $\left(u_{n}\right)_{n}$ for $\lambda_{*}$ such that $\left(u_{n}\right)_{n} \subset W \backslash Z$ and $k_{r}\left(u_{n}\right)=1 \quad \forall n \in \mathbb{N}$, i.e.,

$$
\begin{equation*}
\Phi\left(u_{n}\right)=\Gamma K_{p}\left(u_{n}\right)^{\omega} K_{q}\left(u_{n}\right)^{1-\omega} \rightarrow \inf _{w \in W \backslash Z} \Phi(w)=\lambda_{*} . \tag{31}
\end{equation*}
$$

Let us prove that $\left(u_{n}\right)_{n}$ is bounded in $W$. Assume the contrary, that there exists a subsequence of $\left(u_{n}\right)_{n}$, again denoted $\left(u_{n}\right)_{n}$, such that $\left\|u_{n}\right\|_{W} \rightarrow \infty$. From Lemma 2.1 we infer that $K_{q}\left(u_{n}\right) \rightarrow \infty$ as $n \rightarrow \infty$ and so, using the inequality (25) and $k_{r}\left(u_{n}\right)=1$ for all $n \geq 1$, we get $K_{q}\left(u_{n}\right) \geq M_{2}>0$ for all $n \geq 1$. Therefore, since $\omega>0$, we have $\Gamma K_{p}\left(u_{n}\right)^{\omega} K_{q}\left(u_{n}\right)^{1-\omega} \rightarrow \infty$, which contradicts (31). Thus, the sequence $\left(u_{n}\right)_{n}$ is bounded in $W$ so there exist $u_{*} \in W$ and a subsequence of $\left(u_{n}\right)_{n}$, again denoted $\left(u_{n}\right)_{n}$, such that $u_{n} \rightharpoonup u_{*}$ in $W$, (also in $W^{1, p}(\Omega)$ ) and $u_{n} \rightarrow u_{*}$ in $L^{r}(\Omega)$ as well as in $L^{r}(\partial \Omega)$. In particular, $k_{r}\left(u_{*}\right)=1$, thus $u_{*} \notin \mathcal{Z}$.

Also, the functionals $K_{p}$ and $K_{q}$ are weakly lower semicontinuous on $W^{1, p}(\Omega)$ and $W^{1, q}(\Omega)$, respectively. Therefore we have

$$
K_{p}\left(u_{*}\right) \leq \liminf _{n \rightarrow \infty} K_{p}\left(u_{n}\right):=\underline{K}_{p}, K_{q}\left(u_{*}\right) \leq \liminf _{n \rightarrow \infty} K_{q}\left(u_{n}\right):=\underline{K}_{q} .
$$

Consequently, since $k_{r}\left(u_{*}\right)=k_{r}\left(u_{n}\right)=1 \forall n \in \mathbb{N}$, we have

$$
\begin{align*}
\Phi\left(u_{*}\right) & =\Gamma K_{p}\left(u_{*}\right)^{\omega} K_{q}\left(u_{*}\right)^{1-\omega} \leq \Gamma \underline{K}_{p}^{\omega} \underline{K}_{q}^{1-\omega} \\
& \leq \liminf _{n \rightarrow \infty} \Gamma K_{p}\left(u_{n}\right)^{\omega} K_{q}\left(u_{n}\right)^{1-\omega}=\lambda_{*}, \tag{32}
\end{align*}
$$

and so $\Phi\left(u_{*}\right)=\lambda_{*}$.
As a consequence of Lemma 4.6 we obtain that $\lambda^{*}$ is an eigenvalue of problem (1).

Lemma 4.7. Assume that $p<r<q$, and $r<\widetilde{p}$ if $p<N$. If $u_{*} \in W \backslash z$ is the minimizer determined in Lemma 4.6, then

$$
\begin{equation*}
u^{*}=\left(\frac{q}{p}\right)^{\frac{1}{q-p}} t\left(u_{*}\right) u_{*} \in W \backslash z, \tag{33}
\end{equation*}
$$

with $t\left(u_{*}\right)$ defined in $(28)_{2}$, is an eigenfunction of problem (1) corresponding to the eigenvalue $\lambda^{*}$. In addition, $\mathcal{J}_{\lambda^{*}}\left(u^{*}\right)=0$.

Proof. From Lemma 4.6, since functional $\Phi$ is a $C^{1}$ functional on $W \backslash$ z, we have $\Phi^{\prime}\left(u_{*}\right)=0$, that is

$$
\begin{aligned}
\left\langle\Phi^{\prime}\left(u_{*}\right), w\right\rangle & =\frac{1}{k_{r}\left(u_{*}\right)}\left[\Gamma \omega p ( \frac { K _ { p } ( u _ { * } ) } { K _ { q } ( u _ { * } ) } ) ^ { \omega - 1 } \left(\int_{\Omega}\left|\nabla u_{*}\right|^{p-2} \nabla u_{*} \cdot \nabla w d x\right.\right. \\
& \left.+\int_{\Omega} \rho_{1}\left|u_{*}\right|^{p-2} u_{*} w d x+\int_{\partial \Omega} \gamma_{1}\left|u_{*}\right|^{p-2} u_{*} w d \sigma\right) \\
& +\Gamma(1-\omega) q\left(\frac{K_{p}\left(u_{*}\right)}{K_{q}\left(u_{*}\right)}\right)^{\omega}\left(\int_{\Omega}\left|\nabla u_{*}\right|^{q-2} \nabla u_{*} \cdot \nabla w d x\right. \\
& \left.+\int_{\Omega} \rho_{2}\left|u_{*}\right|^{q-2} u_{*} w d x+\int_{\partial \Omega} \gamma_{2}\left|u_{*}\right|^{q-2} u_{*} w d \sigma\right) \\
& \left.-\Phi\left(u_{*}\right) r\left(\int_{\Omega} \alpha\left|u_{*}\right|^{r-2} u_{*} w d x+\int_{\partial \Omega} \beta\left|u_{*}\right|^{r-2} u_{*} w d \sigma\right)\right]=0
\end{aligned}
$$

for every $w \in W$. Multiplying the above equality by $1 /\left(p^{\omega} q^{1-\omega}\right)$ and taking into account (33) and $\Phi\left(u_{*}\right)=p^{\omega} q^{1-\omega} \lambda^{*} / r$, we obtain

$$
\begin{aligned}
& \int_{\Omega}\left(\left|\nabla u^{*}\right|^{p-2}+\left|\nabla u^{*}\right|^{q-2}\right) \nabla u^{*} \cdot \nabla w d x \\
& \quad+\int_{\Omega}\left(\rho_{1}\left|u_{*}\right|^{p-2}+\rho_{2}\left|u_{*}\right|^{q-2}\right) u_{*} w d x \\
& \quad+\int_{\partial \Omega}\left(\gamma_{1}\left|u_{*}\right|^{p-2}+\gamma_{2}\left|u_{*}\right|^{q-2}\right) u_{*} w d \sigma \\
& \quad=\lambda^{*}\left(\int_{\Omega} a\left|u^{*}\right|^{r-2} u^{*} w d x+\int_{\partial \Omega} b\left|u^{*}\right|^{r-2} u^{*} w d \sigma\right) \forall w \in W
\end{aligned}
$$

According to Definition 1.1, $u^{*}$ is an eigenfunction of problem (1) corresponding to the eigenvalue $\lambda^{*}$.

Finally, a simple computation shows that $\mathcal{J}_{\lambda^{*}}\left(u^{*}\right)=0$.
Lemma 4.8. Assume that $p<r<q$, and $r<\widetilde{p}$ if $p<N$. Then every number $\lambda \in\left(\lambda^{*}, \infty\right)$ is an eigenvalue of problem (1), and for any $\lambda \in\left(-\infty, \lambda_{*}\right) \backslash\{0\}$ problem (1) has only the trivial solution.

Proof. Let $\lambda>\lambda^{*}$ be fixed. Note that the eigenfunction $u_{*}$ from Lemma 4.7
satisfies $k_{r}\left(u^{*}\right) \neq 0$ and $\mathcal{J}_{\lambda^{*}}\left(u^{*}\right)=0$, so we have

$$
\begin{aligned}
0= & \mathcal{J}_{\lambda^{*}}\left(u^{*}\right)=\frac{1}{p} K_{p}\left(u^{*}\right)+\frac{1}{q} K_{q}(u)-\frac{\lambda^{*}}{r} k\left(u^{*}\right) \\
& >\frac{1}{p} K_{p}\left(u^{*}\right)+\frac{1}{q} K_{q}\left(u^{*}\right)-\frac{\lambda}{r} k_{r}\left(u^{*}\right)=\mathcal{J}_{\lambda}\left(u^{*}\right) .
\end{aligned}
$$

Finally, making use of Remark 2.5, $\lambda$ is an eigenvalue of problem (1).
The second statement is a simple consequence of Lemma 4.5. Assume, by way of contradiction, that there exists a $\lambda \in\left(0, \lambda_{*}\right)$ and $u_{\lambda} \in W \backslash z$ which satisfy the relation (4). Choosing here $w=u_{\lambda}$ yields

$$
\lambda=\frac{K_{p}\left(u_{\lambda}\right)+K_{q}\left(u_{\lambda}\right)}{k_{r}\left(u_{\lambda}\right)}
$$

which, by virtue of the equivalent definition of $\lambda_{*}$ in (7), implies that $\lambda \geq \lambda_{*}$. This contradicts the choice of $\lambda$.

Summarizing, we see that Lemmas 4.4, 4.5, 4.7, and 4.8 fully complete the proof of Theorem 1.4 (b).

## References

[1] R. Adams, J. Fournier, Sobolev Spaces(second ed.), Pure Appl. Math., 140, Academic Press, New YorkLondon, 2003.
[2] L. Barbu, G. Moroşanu, Eigenvalues of the negative $(p, q)$-Laplacian under a Steklov-like boundary condition, Complex Var. Elliptic, 644(2019), 685700.
[3] L. Barbu, G. Moroşanu, Full description of the eigenvalue set of the $(p, q)$ Laplacian with a Steklov-like boundary condition, J. Differential Equations, 290(2021), 1-16.
[4] L. Barbu, G. Moroşanu, On a Steklov eigenvalue problem associated with the $(p, q)$-Laplacian, Carpathian J. Math., 37(2021), 161-171.
[5] L. Barbu, G. Moroşanu, Full description of the spectrum of a Steklov-like eigenvalue problem involving the $(p, q)$-Laplacian, Ann. Acad. Rom. Sci, Ser. Math. Appl. (in press).
[6] L. Barbu, G. Moroşanu, On the eigenvalue set of the $(p, q)$-Laplacian with a Neumann-Steklov boundary condition, Differential Integral Equations. (in press).
[7] V. Benci, D. Fortunato, L. Pisani, Solitons like solutions of a Lorentz invariant equation in dimension 3, Rev. Math. Phys., 10(1998), 315344.
[8] V. Bobkov, M. Tanaka, On the Fredholm-type theorems and sign properties of solutions for $(p, q)$ - Laplace equations with two parameters, Ann. Mat. Pura Appl., 198(2019), 16511673.
[9] D. Bonheure, F. Colasuonno, J. Fldes, On the Born-Infeld equation for electrostatic fields with a superposition of point charges, Ann. Mat. Pura Appl., 198(3) (2019), 749-772.
[10] H. Brézis, Functional Analysis, Sobolev Spaces and Partial Differential Equations, Springer, 2011.
[11] E. Casas, L.A. Fernández, A Green's formula for quasilinear elliptic operators, J. Math. Anal. Appl., 142(1989), 62-73.
[12] L. Cherfils, Y. Il'yasov, On the stationary solutions of generalized reaction diffusion equations with $p \& q-$ Laplacian, Commun. Pure Appl. Anal., 4(2005), 9-22.
[13] Z. Denkowski, S. Migórski, N.S. Papageorgiou, An Introduction to Nonlinear Analysis: Theory, Springer, New York, 2003.
[14] G.H. Derrick, Comments on nonlinear wave equations as models for elementary particles, J. Math. Phys., 5(1964), 1252-1254.
[15] L.F.O. Faria, O.H. Miyagaki, D. Motreanu, Comparison and positive solutions for problems with $(p, q)$-Laplacian and convection term, Proc. Edinb. Math. Soc., 57 (2) (2014), 687-698.
[16] L. Gasiński, N.S. Papageorgiou, Exercises in Analysis. Part 2: Nonlinear Analysis, Springer International Publishing, Switzerland, 2016.
[17] T. Gyulov, G. Moroşanu, Eigenvalues of $-\left(\Delta_{p}+\Delta_{q}\right)$ under a Robin-like boundary condition, Ann. Acad. Rom. Sci. Ser. Math. Appl., 8(2016), 114-131.
[18] D. Mugnai, N.S. Papageorgiou, Resonant nonlinear Neumann problems with indefinite weight, Ann. Sc. Norm. Super. Pisa, Cl. Sci., (5)XI(2012), 729788.
[19] N.S. Papageorgiou, C. Vetro, F. Vetro, Continuous spectrum for a two phase eigenvalue problem with an indefinite and unbounded potential, J. Differential Equations, 268(2020), 41024118.
[20] M. Struwe, Variational Methods: Applications to Nonlinear Partial Differential Equations and Hamiltonian Systems, Springer, 1996.
[21] V.V. Zhikov, Averaging of functionals of the calculus of variations and elasticity theory, Izv. Akad. Nauk SSSR Ser. Mat., 50(1986), 675710; English translation in Math. USSR-Izv., 29(1987), 3366.

[^1]ON AN EIGENVALUE PROBLEM ASSOCIATED WITH THE


[^0]:    Key Words: Eigenvalues, $(p, q)$-Laplacian, parametric boundary condition, Nehari manifold, variational methods.

    2010 Mathematics Subject Classification: Primary 35J60, 35D30; Secondary 35P30.
    Received: 14.02.2023
    Accepted: 31.05.2023

[^1]:    Luminiţa BARBU,
    Faculty of Mathematics and Informatics,
    Ovidius University of Constanta,
    124 Mamaia Blvd, 900527 Constanta, Romania.
    Email: lbarbu@univ-ovidius.ro
    Andreea BURLACU,
    Doctoral School of Mathematics,
    Ovidius University of Constanta,
    124 Mamaia Blvd, 900527 Constanta, Romania.
    Email: andreea.laura.burlacu@365.univ-ovidius.ro
    Gheorghe MOROŞANU,
    Faculty of Mathematics and Computer Science, Babeş-Bolyai University,
    1 Mihail Kogălniceanu Str.,
    400084 Cluj-Napoca, Romania
    and
    Academy of Romanian Scientists
    5 Ilfov Str.
    050044 Bucharest, Romania
    Email: morosanu@math.ubbcluj.ro

